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Next, use Equation 8-1 to calculate Ip at Vgg = —4 V.
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Vos = Vg — Vs = 0 — IpRs = —IpRg
Thus,
Vgs = —IpRs
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Vp = Vpp — IpRp
Since Vg = IpRs, the drain-to-source voltage is

Vbs = Vp — Vs = Vpp — Ip(Rp + Rs)
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Find Vps and Vs in Figure 8—17. For the particular JFET in this circuit, the parameter
values such as g,,. Vigs(ofn. and Ipgs are such that a drain current (/p) of approximately
5 mA is produced. Another JFET, even of the same type, may not produce the same
results when connected in this circuit due to the variations in parameter values.
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